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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What do you mean by inadequate working capital ? 

What are its consequences ? 

vi;kZIr dk;Z’khy iww¡th ls vkidk D;k vk’k; gS \ fyf[k;sA  

2. XYZ ltd. is considering the possibility of 

manufacturing a particular component which at present 

is being bought from outside. The manufacture of the 

component would call for an investment of ` 7,50,000 

in a machine besides and additional investment of  

` 50,000 in working capital. The life of the machine 

would be 10 years with a salvage value of ` 50,000. 

The estimated saving (before tax) would be ` 1,80,000 

per annum. The income tax rate is 50%. The 

company’s required rate of return is 10%. Depreciation 

is provided on straight line basis. Suggest the firm 

whether this investment be made or not.   

XYZ fyfeVsM ,d fo’ks”k ?kVd@vo;o ds fuekZ.k dh 

laHkkouk ij fopkj dj jgh gS tks orZeku fLFkfr eas ckgj ls 

[kjhnk tk jgk gSA ?kVd@vo;o ds fuekZ.k ij dk;Z’khy 

iw¡th eas ` 50]000 ds vfrfjDr fuos’k ds vykok e’khu esa  

` 7]50]000 ds fuos’k dh vko’;drk gksxhA e’khu dk thou 

` 50]000 ds ,d mckj@fuLrkj.k ewY; ds lkFk 10 o”kZ dk 

gksxkA vuqekfur cpr ¼dj iwoZ½ ` 1]80]000 izfr o”kZ gksxhA 

vk; dj dh nj 10% gSA dEiuh dh izR;k; dk visf{kr nj 

10% gSA dEiuh lh/kh js[kk ds vk/kkj ij ewY; kl iznku 

djrh gSA QeZ dks lq>ko nsa fd ;g fuos’k gksuk pkfg;s ;k 

ugha \  
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3. From the following information, compute the balance 

sheet of Y Ltd :  

Sales/Total Assets 3 

Sales/Fixed Assets 5 

Sales/Current Assets 7.5 

Sales/Inventories  20 

Sales/Debtors 15 

Current Ratio 2 

Total Assets/Net Worth  2.5 

Debt/Equity 1 

Sales of ` 36 Lakhs 

fuEufyf[kr lwpukvksa ds vk/kkj ij Y fyfeVsM dk foŸkh; 

fLFkfr fooj.k@fpëk cukb;s % 

fcØh@dqy lEifŸk;k¡ 3 

fcØh@vpy lEifŸk;k¡ 5 

fcØh@pkyw lEifŸk;k¡ 7.5 

fcØh@eky 20 

fcØh@nsunkj 15 

pkyw vuqikr 2 

dqy lEifŸk@fuoy lEifŸk 2.5 

_.k@lerk 1 

` 36 yk[k dh fcØh 
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4. What do you understand by term loans ? Describe the 

special features of term loans.  

vof/k _.k ls vki D;k le>rs gSa \ vof/k _.k dh eq[; 

fo’ks”krkvksa dk o.kZu dhft;sA  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. X Ltd. earns ` 6 per share having capitalization rate of 

10% and has a return on investment at 20%. According 

to Walter’s model what should be the price per share at 

30% dividend payment ratio ? Is this optimum payout 

ratio as per Walter’s model ? 

,Dl fyfeVsM 10% dh iw¡thdj.k nj ls ` 6 izfr va’k 

mikftZr djrh gS vkSj fuos’k ij izR;k; 20% gSA okYVj ds 

ekWMy ds vuqlkj 30% ykHkka’k Hkqxrku vuqikr eas izfr ‘ks;j 

va’k dk ewY; D;k gksuk pkfg;s \ okYVj ds ekWMy ds 

vuqlkj D;k ;g b”Vre Hkqxrku vuqikr vuqdwy gS \ 
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2. Given the following information, find the margin of 

safety :  

(i) Profit earned ` 24,000 

(ii) Selling price per units ` 10 

(iii) Variable cost per unit ` 7  

fuEufyf[kr lwpukvksa ds vk/kkj ij lqj{kk lhek Kkr  

dhft;s % 

(i) ykHk vftZr ` 24]000 

(ii) fcØh ewY; ` 10 izfr bdkb;k¡ 

(iii) ifjorZu’khy ykxr ` 7 izfr bdkbZ 

3. X Ltd. requires 2,000 units of a certain item  per year. 

The purchase price per unit is ` 30. The carrying cost 

of inventory is 25% of the unit cost and the cost per 

order is ` 1,000. You are required to compute the 

economic order quantity.  

,Dl fyfeVsM dks izfr o”kZ ,d fuf’pr en dh 2]000 

bdkb;ksa dh vko’;drk gSA izfr bdkbZ Ø; ewY; ` 30 gSA 

LVkWd dh j[kko ykxr bdkbZ ykxr dh 25% gS vkSj izR;sd 

vkns’k dh ykxr ` 1]000 gSA vki vkfFkZd vkns’k ek=k dh 

x.kuk dhft;sA  

4. Find out operating ratio : 

     ` 

Cost of goods sold 4,00,000 

Office and administration expenses   30,000 

Selling and distribution expenses  20,000 

Sales  6,00,000 

Sales return  20,000 
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ifjpkyu vuqikr Kkr dhft;s % 

      ` 

csps x, eky dh dher 4,00,000 

dk;kZy; vkSj iz’kklu O;; 30,000 

fcØh ,oa forj.k O;; 20,000 

fcØh  6,00,000 

fcØh okilh 20,000 

5. Limitations of Break Even Analysis.  

le&foPNsn fo’ys”k.k dh lhek,¡A  

6. Net Present value vs. Internal rate of return.  

‘kq) orZeku ewY; cuke izR;k; dh vkarfjd njA 

7. Principal purpose of forecast statements.  

iwokZuqeku fooj.k ds izeq[k mn~ns’;A 

8. Equity Share vs. Preference Shares. 

lerk va’k cuke vf/keku va’kA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the right option : 

lgh fodYi dk pquko dhft;s % 

1. Data of a company X Ltd. is given below :  

Sales   ` 15,00,000 

Variable cost  ` 9,00,000 

Fixed cost  ` 4,00,000 

Break even sales in ` .......... 

(a) ` 4,00,000 

(b) ` 2,00,000 

(c) ` 1,00,000 

(d) None of the above  

dEiuh ,Dl fyfeVsM ls lEcfU/kr lwpuk,¡ uhps nh xbZ gSa % 

fcØh   ` 15]00]000 

ifjorZuh; ykxr  ` 9]00]000 

fLFkj ykxr  ` 4]00]000 

le&foPNsn fcØh ` 
--------------

 

¼v½ ` 4]00]000 

¼c½ ` 2]00]000 

¼l½ ` 1]00]000 

¼n½ mi;qZDr eas ls dksbZ ugha  
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2. Calculate current assets :  

Current Ratio  2.6 : 1 

Liquid Ratio  1.5 : 1 

Current Liabilities   ` 40,000 

(a) ` 1,04,0000 

(b) ` 1,40,000 

(c) ` 40,000 

(d) ` 84,000 

pkyw lEifŸk;ksa dh x.kuk dhft;s % 

pkyw vuqikr   2-6 % 1 

rjy vuqikr   1-5 % 1 

pkyw nkf;Ro  ` 40]000 

¼v½ ` 1]04]000 

¼c½ ` 1]40]000 

¼l½ ` 40]000 

¼n½ ` 84]000 

3. Estimate amount of profit if sales is 10,000 units, fixed 

cost is ` 50,000, variable cost per unit is ` 12 and 

selling price per unit is ` 20.  

(a) ` 12,000 

(b) ` 5,000 

(c) ` 30,000 

(d) None of the above  
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ykHk dh vuqekfur jkf’k D;k gksxh ;fn fcØh 10]000 

bdkb;k¡] LFkk;h ykxr ` 50]000 gSS] ifjorZuh; ykxr ` 12 

izfr bdkbZ gS vkSj fcØh ewY; ` 20 izfr bdkbZ gS % 

¼v½ ` 12]000 

¼c½ ` 5]000 

¼l½ ` 30]000 

¼n½ mi;qZDr eas ls dksbZ ugha  

4. Financial management mainly focuses on :   

(a) Efficient management of every business 

(b) Brand dimension  

(c) Arrangement of funds   

(d) All elements of acquiring and using means of 

financial resources for financial activities  

foŸkh; izcU/ku fuEufyf[kr esa ls eq[; :i ls fdl ij 

dsfUnzr gksrk gS \ 

¼v½ izR;sd O;olk; ds dq’ky izcU/ku ls 

¼c½ czkaM vk;ke ls 

¼l½ /ku dh O;oLFkk ls  

¼n½ izkfIr ds lHkh rRoksa vkSj foŸkh; xfrfof/k;ksa ds fy;s 

foŸkh; lalk/kuksa ds lk/ku dk mi;ksx djus ls  
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5. ........... is the non-recurring dividend paid shareholders 

in addition the regular dividend.  

(a) A stock split  

(b) A stock dividend 

(c) A extra dividend  

(d) A regular dividend  

-----------------
 fu;fer :i ls fn;s tkus okys ykHkka’k ds vfrfjDr 

va’k/kkjdksa dks Hkqxrku fd;k tkus okyk xSj&vkiwfrZ ykHkka’k 

gSA  

¼v½ ‘ks;j foHkktu 

¼c½ ,d ‘ks;j ykHkka’k 

¼l½ ,d vfrfjDr ykHkka’k  

¼n½ fu;fer ykHkka’k  

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k;s % 

6. Sunk cost is a relevant cost in capital budgeting.  

Mwch@foQy foØ; ykxr iw¡th ctV eas ,d izklafxd ykxr 

gSA  

7. The main objective of financial management is to 

maximize profits.  

foŸkh; izcU/ku dk eq[; mn~ns’; ykHk dks vf/kdre djuk 

gSA  



 [ 11 ] BC–12 

A-52 P. T. O. 

8. Payment of dividend is deductive expense of the 

company.  

ykHkka’k dk Hkqxrku dEiuh ds fy, ,d dVkSrh ;ksX; [kpZ 

gSA  

9. Profitability and liquidity are inversely related.    

ykHkiznrk vkSj rjyrk vkil esa O;qRØekuqikrh :i ls 

lEcfU/kr gSaA  

10. Cash is an important but a low earning current asset.  

jksdM+ egRoiw.kZ ysfdu ,d fuEu vk; okyh pkyw ifjlEifŸk 

gSA  
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